
M3 Quadratics Review
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1. What are the x-intercepts of the graph of y = 12x2 − 5x − 2?

A. 1 and − 1
6 B. −1 and 1

6 C. 2
3 and − 1

4 D. − 2
3 and 1

4

2. Which ordered pair is the vertex of f (x) = x2 + 6x + 5?

A. (−3,−4) B. (−2,−3) C. (−1, 0) D. (0,−5)

3. Which equation represents the graph of a parabola that opens up and
is wider than the graph of y = x2?

A. y = 2x2 + 3x − 5 B. y = 1
2x

2 + 3x − 5

C. y = −2x2 + 3x − 5 D. y = − 1
2x

2 + 3x − 5



4. When f (x) = x2 − 4x + 7 is written in the form f (x) = (x − 2)2 + 3,
which properties of the graph are revealed?

A. Axis of symmetry, maximum B. Axis of symmetry, minimum

C. Zeros, maximum D. Zeros, minimum

5. Which function has zeros at 2 and −5?

A. y = x2 + 3x + 10 B. y = x2 − 3x + 10

C. y = x2 + 3x − 10 D. y = x2 − 3x − 10

6. Which equation describes a parabola that has vertex (−3, 1) and
passes through point (0, 4)?

A. y = 1
3 (x + 3)2 + 1 B. y = 3(x + 3)2 + 1

C. y = 1
3 (x − 3)2 + 1 D. y = 3(x − 3)2 + 1
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1.
Answer: C

2.
Answer: A

3.
Answer: B

4.
Answer: B

5.
Answer: C

6.
Answer: A


